ERH28FEEEFRE 4FHEDER

B & 7H 10H B 8 7H 10H

2 15 FINVETSUR A = 15 mINVESTSUK B

oz F2HEFET DII/EFE o F2:RAFET /IME/=BIEL

%E FARXEET HEY/ME %E FTAREET WL/

E5REHND —F/ME FEE5HELIS  HF/ AT

RNF |K=LY4N  E@l F@l 7o $4r . RNF |F=LYAN  EFE FRE 7om4$4r .
Kickoff 20-5-20%3 & Kickoff 20-5-20%) =
E1EE mERR Eisa TR
o : 0037 hiIFc  — #PEEKE| 3.y ||o: 0oles /iEsc  —  isc | "B
Fg281 4G =] 11 g2 4G N
9 : 50/10 FWEFC —  KTIlIsSC| %¥F 9 : 50[13 ZFSC — f=blLiEsc| =l
E£3HE mE E e —_F
10:40(17 #£YSC — FCHEBEU| ATl |[10:40[22 #WEIFC — ZEBIKE 1-bE4
a4 A HEY | [FE4HE #WE
11:30[54 #FESC — INBSC Bl 11:30[65 dAJIIFC — ¥JIlsc E R
E5H A SNE | [E5HE Il
12:20[15 —FSC — mEFC NG 12:20[(19 #&EYSC — KTFJISC| #l
EL =% ||®eHa HEY
13:10/24 3BEFC —  f=bId4sc| mE 13:10[30 4}+FSC —  FCcEmBuU | AT

- r. 1 5 1

B & 9H 4H B & 9AH 4H

2 15 FINVETSUR A = 15 mINVESTSUK B

oz F2HEBFET ZF/EFE o $E2AEET WE//IME

=7 FAREET BEE/ME e FAHAET KT/

ES5HENS HEY/HF E5RENS /R

RNOF |F=Ly(F EFEE FTEE 794440 s RNOF |f=LH4N LA FEE 7444 sz
kickoff 20-5-20% kickoff 20-5-20%7
E1HE —sxF | |E1HE e
9:00/6 AFJISC — fbldksc/HL-F|lo: 00|/8 MWEFC — FCRABU|
go2xa AT [|®E2RE [[)Ed
9 : 50[11 ZFHESC — EEBEKE f=6E4||9 : 5 0|52 #&EYSC — INESC A5
B3R =% ||®3#a #HEY
10:40(44 #EFC — fJIIFC E S5 10:40]64 #FSC — Hsc | /ME
g4 E wE | |F4RE "
11:30[3 f=bIEHESC — FCHEBEU| il 11:30[4 KTFIISC — XEBERE| #NI
E£5HE =bE% | |E5HE AT
12:20[50 FHEFC — INESC Bl 12:20|42 =3FSC — fJIIFC x5
Fo6HE T [E] F6RE —_%
13:10/35 #&EYSC — 5 FESC N 13:10|63 #HEFC — FJlsc )i

F1IRADF—LRBTFVVRRE EBREADTF—LIFRA T SHELL




